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Question Bank (101 Multiple Choice Questions) for Dresser I1I

3 Hidradenitis Suppurativa most commonly occurs in

A) Neck B) Groin C) Perineum D) Axilla

2. Sebaceous cysts contain a cheesy material which is made of

A) Sebum B) Keratin C) Bacteria D) Dirt

3. Most common site of Basal cell Carcinoma is

A) Axilla B) Face C) Back D) Limbs

4. The best method of controlling bleeding from varicose veins of leg is

A) Torniquet B) Crepe bandage  C) Limb elevation D) Emergency Sclerotherapy

5. In which of the following is the risk of loss of limb highest?

A) Smoker, B) Hypertensive , C) Diabetic, D) Gross obesity

6. The classic diabetic foot ulcer occurs at

A) Tip of great toe, B) Metatarsal head planter aspect, C) Below Medical malleolus, D) Heel pad

7. Following a single episode of Gl bleed, occult blood in stool is positive for

A) 3 days B) 5 days C) 7 days D) 10 days

8. Irreversible brain damage occurs within how many minutes of cardiac arrest?

A) 2 Mins B) 3 Mins C) 4 Mins D) 5 Mins

9. Commonest cystic lesion of hand and wrist

A) Lipoma, B) Sebaceous cyst C) Ganglion D) Dermord

10. Most useful investigation in head injury is

A) X ray lateral view,  B) angiography, C) Ventriculography D) CT scan

11. The fluid of choice in hypovolemic shock is

A) Ringer lactate,  B) Low molecular weight Dextron, C)Blood , D) 5 % Dextrose

12. Narrowest part of Male Urethra is

A) Fossa Navicularis , B) Bulbar Urethra, C) External Meatus, D) Prostatic Urethra

13. All the following may be useful in management of CSF rhinorrhea except

A) Nasal packing, B) Repeated lumbar puncture, C ) Antibodies, D) Craniotomy and dural repair

M



14. In Oliguria the urine output for 24 hours is less than

A) 400 ml B) 600 ml, C) 100 ml, D) 1000 m!

15. Wound healing is worst at

A) Anterior neck, B) Eyelid, C) Lips, D) Sternum

16. Best skin graft for open wound is

A) Autograft B) Allograft C) Homograft , D) Isograft

17. Most common benign soft issue tumor is

A) Lipoma, B) Fibroma, C) Hamartoma, D) Leimyoma

18. The best investigation for gall stone is

A) ultra sonogram, B)CTscan, C) Plain Xray abdomen, D) Cholesystography

19. Skin grafting should be done when

A) Depth of an ulcer is more and covered with slough, B) Pale granulation tissue present,
D) Exuberant granulation, D) Healthy granulation

20. Commonest cause of Urethral stricture in young male is

A) Trauma, B) Genococcal , C) Syphillis , D) TB

21. The HIV virus can be destroyed in vetro by which of the following?

A) Boiling, B) Ethanol, C) Ciden, D) all of the above
22. Thomas splint is used in splinting

A) Fracture shaft femur , B) Fracture tibia, C) Intertrochanteric fracture, D) All of the above
23. Treatment of Club foot should begin from

A) from day of birth, B) Age of 1 month, C) At3 months, D) At 6 months

24. Milk ejaculation reflex is stimulated by

A) Estrogen,  B) Progesterone C) Prolactin D) Oxytocin

25. Episotomy is best done

A) Medially B) Laterally C) Mediolaterally, D) J Shaped
26. Half life of transfused platelets is

A) 4 hours B) 12 hours C) 4 days 17) days
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27. Life span of Platelets is d\MY ¥
\ o
A) 4 days B) 9)}(3\;5 5, C) 20-30 days D) 90 days

28. Hot air oven method of sterilization is used for

A) Syringes, B) Gloves, C) Fats & Oils D) Catheters

29. Hospital soiled dressing are best disposed off by

A) Autoclaving, B) Boiling, C) Incineration D) None of the above
30. Blood film is required in ‘

A) Maleria, B) TB, C) Gram positive septicemia D) Gram negative septicemia
31. Disinfection means

A) When an article is free from all micro organisms, B) Destruction of all pathogenic organisms
C) Preventing of infection, D) Inhibiting growth of bacteria

32. Holding period of hot air oven is

A) 140°C for 1 hour  B) 160°Cfor 1 hour, C) 160°C for % hour , D) 180°C for 1 hour

33. Serum or body fluids can be sterilized by

A) Autoclaving, B)Hotairoven C) Moist heat on successive days, D) 56 ° Cin water bath for 1 hour
on several successive days.

34. Reservoir of urban rabies is

A) Dogs, B) Monkeys,  C) Cats D) Horses

35. HIV virus infects

A) Lymphoblast  B) B Cell C) T. Helper Cell, D) Inhibitory Cell ,
36. Chlorination does not affect

A) Salmonella  B) Shigella C) HIV D) Polio Virus

37.The depth of an incised wound is greatest ata place

A) Where the weapon strikes first, B) Away from the weapon, C) Yhe other end of the weapon,
D) Any of the above

38. A bruise showing bluish black discolouration is -
A) afewhoursold, B) OnedayOld, C)Fourdays old, D) Ten days Old
39. Legal age for marriage for boys in India is

A) 18 years, B) 19 years, C) 20 years, D) 21 years



40. In which of the following poisoning stomach wash is not advisable?

A) Arsenic poisoning, B) Carbolic acid poisoning, C) Sulphuric acid poisoning, D) Alcohol poisoning
41. Which Hb is protective in sickling

A) € B)F C) D D) E

42. One of the following is not indicated for arterial leg ulcer

A) Debridement B) Elevation of limb C) Head end of bed is raised
D) Low dose aspirin

43, Incubation period of gangrene is

A) 1-3 days B) 4-6 days C) 7-10 days D) 10-15 days

44. Which technique should be followed to prevent bed sores?

A) Application of spirit, B) Use of soft mattress, C) Frequent change of patient position,

D) Regular skin care.

45. Degloving injury is

A) Surgeon made wound, B) Lacerated wound, C)Bluntinjury D) Avulsion injury
46. Emergency treatment of tension pneumotherax in casualty is

A) Chest Xray B) Puncture by wide bore needle, C) Tube drainage D} IPPV

47.A 2 year old child with intercostals retraction and increasing cyanosis is brought with a history of
foreign body aspiration which might be life saving in this situation.

A) Oxygen through face mask, B) Heimlick’s manouvere, C) Extracardiac massage,
D) Intracardiac adrenaline

48. Catgut is prepared from intestine of

A) Cat B) Sheep C) Rabbit D) Human

49, Seitz bath consists of which of the following?

A) Patient bathed in normalsaline, B) Bathed in molten wax, C) Sits in basin containing warm antiseptic
lotion, D) Sits in basin containing molten wax.

50. Ganglion contains
A) Mucous material B)water, C)Blood, D) all of the above
51. In India, claw hand is most commonly due to

A) Trauma, B)Leprosy, C) Drugs, D) Diabetes Mellitus
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52. Best time for insertion of Copper T is

A) Immediately after menstruation, B) Immediately after abortion, C) immediately after child birth,
D) during lactational amenorrhea.

53. A case of Vasectomy is said to have failed as the vasectomized person’s wife gives birth to a child ten
months after the operation. Which of the following is the most probable cause?

A) failure of husband to use condom after Vasectomy, B) Surgical failure, C) Recanalisation,
D) Wife had extra marital affair.

54. Sharp instruments may be sterilized with

A) Radiation, B) Hysol, C) Dettol D) Pot.Permanganate
55. Vertical transmission is by

A) Mosquitos, B) Direct Contact C) Droplet D)Placenta

56. If convulsions are present, which vaccine should not be given

A) DPT, B) Oral Palio, C) BCG, D) Tetanus toxoid

57.Ideally immunization against Polio Should start at

A) Birth B) 6 weeks C) 12 weeks D) 9 months
58. Ideal temperature for storage of DPT vaccine is

A) Room temperature B) 4 to 8°C C)0 to 20°C, D) None

59. Commonest cause of Diarrhoea in children is

A) Rota Virus, B) Norwalk Virus, C) Adenovirus, D) Giardiasis
60. Carriers are common in

A) Typhoid, B) Maleria C) Gastroenteritis, D) Hepatitis A

61. Best method to treat diarrhoea in a child is

A) IV fluids B) ORS, C) antibiotics D) Bowel binder

62. A freshly prepared ORS should not be used for more than

A) 2 hours B) 8 hours C) 12 hours D) 24 hours
63. In the case of dog bite the biting animal should be observed for at least #
A) 5 days, b) 10 days, C) 15 days D) 3 weeks

64. Main aim of Tuberculosis (TB) treatment is

A) Radiological cure, B) Contact tracing, C) Bacteriological cure; D) to prevent complications
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65. The best method to prevent pulmonary tuberculosis is

A) Case isolation, B) treatment of cases, C) BCG vaccination, D) Chemoprophylaxis
66. A patient in anti rabies treatment is advised to

A) Refrain from smoking, B) Abstain from alcohol, C) Take regular exercise, D) Consume extra calories

67. Dietary supplement alone cannot compensate for the increased requirement of which nutrient in
pregnhancy?

A) Iron, B)lodine, C)Magnesium, D) Calcium

68. Breast feeding should be started within ... Of birth.

A) within 1 hour B) 1-2 hours C) 2-3 hours D) 12-24 hours
69. The MTP act defines the following

A) Who should do termination of pregnancy, B) where it should be done, C) When should be done,
D) All of the above.

70. Absolute growth is maximally seen in

A) 0-1 years age group B) 1-4 years, C) 5-10 years D) 14-16 years

71. Weaning foods are given to infants from

A) 3" month B) 6 months C) 9 months D) 12 months
72. Which state has the lowest infant mortality rate?

A) Kerala, B)Tamil Nadu, C)Bengal, D) Madhya Pradesh

73. Highest amount of iron is seen in

A) Milk, B) Meat, C ) Spinach, D) Jlaggery
74. Milk is deficient in

A) Calcium, B) Vit. A C) Vit. D, D) fe(iron)
75. Fat content is highest in

A) Beef, B) Mutton, C) chicken, D) Fish

76. Disease spread by Mosquito are

A) Maleria, B) Toxoplasmosil C) Histoplasma D) sleeping sickness
77. Which of the following is not true of chlorination of water?

A) viruses are killed, B)sporesarekilled, C)has residual effect, D) nontoxic
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78. Urethra of female

A) has only connective tissue in its upper third, B) has only smooth muscle in its wall, C)is shorter than
in the ma{e D) is longer than in the male.

79. Muscles can withstand complete arterial occlusion for

A) % hour, b)1 hour, C)4-6hours D) 8 hours

80. Which of the following is an absorbable suture?

A) Catgut, B)silk, C)Nylon D) Polypropylene

81. The maximum weight used for skin traction is

A)Skg  B)10kg C) 15 kg D) 20 kg

82. The use of K-wire is

A) Incirclage,  B) prior to plating C) for fixing forearm bone, D) all of the above
83. Pre operative shaving is ideally done at

A) evening before b) morning of operation, C)just before operation D) at Operation table
84. Delayed primary suturing is done within

A) 2-4 days, B)4-6days, C)6-8days, D)8-10days

85. A patient with Furuncle of ear is presented. What is the commonest method of treatment?

A) ear pack of 10% Ichtamol in glycerine wick, B) antibiotic and rest, C) antibiotic & drainage,
D) Analgesic

86. Commonest cause of deafness is

A) Trauma to ear, B)wax inthe ear, C)acute mastoidites, D) Menicre’s disease
87. Maggots in nose is best treated by

A) Chloform, b)O Turpentine, C) Kerosene oil D) Ether

88. A 40 years old male presents with epistaxis of 15 min duration. On examination no active site of
bleeding can be located, but BP is 200/110 mm Hg. Treatment of choice will be

A) Anterior nasal packing, b) ligation of posterior vessels, C)Anterior and posterior nasal packing,
D) Obstruct the nose and conirol hypertension if required.

89. Nitrous oxide cylinders are coloured
A) Black, B) Blue C) Yellow D) Red
90. Cylinders with black and white shoulders contain

A) Nitrous oxide, B) Oxygen, C) Carbondioxide, D)Halothane



?( Carbondioxide cylinders are painted

A) Black B) White, C) Grey D) Deep blue
92. The largest and most complex joint of the body is

A) Knee joint, B)ankle joint, C)Elbow joint, D)Lumbosacral joint

93. The most frequently used topical prophylactic agent in patients with burns is
A) silver sulfadiazine B) Cerium Nitrate Silver sulfadiazine, C) Mafinide, D) Silver Nitrate
94, Commonest cause of acute retention of urine is

A) Structure, B)Enlarged prostrate, C)Stone, D) None

95. A skin flap for fracture of middle one third of leg is taken from

A) Buttock, B) leg, C)ankle, D) Poplitens muscle of opposite side

96. Treatment of choice for a wound 10-12 hours old is

A) immediate closure, B)debridement + primary closure, C) Antibiotics+ Debridement,

D) Antibiotics+ delayed suture.

97. Tepid sponging of body is usually done in

A) Diabetes, B) Fever, C) Jaundice, D) Diarrhoea
98. Smoking affects

A) Eyes, B)Heart, C) Lungs, D) Liver

99. Vaccine given after injury

A) InjTT, B) Polio drop, C) BCG D) DPT
100. Dengue is spread by

A) Food, B) Water, C) Mosqguito D) Air
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|, @ ged  Afa Rhael RGN
a) 100-140/min b) 20-40/min c) 40-50/min d) 60-90/min

5. @AEE Hsa & BP Rhaer €T 87
a) 120/80,b) 160/90, c)170/90, d) 150/100

3. GEET FJSH & normal drgET AT orar 87
a) 964°F ,b) 97.4°F «c)98.4°F d) 99.8°F

4. T FST & R # o dra B €

a) 1 b) 2 )3  d)4

5. @@ AT & o el A 87

a) 4 b) 2 el'l d)5

6. HI @ Fo AT F FEl e 7

a) Liver b) Kidney ¢} Muscle d) spleen
7. aréd(bile) & A el el &7

a) Liver b) Kidney  c) Muscle d) spleen
8. WHT AgSE H afe o $ B FEl el 87
a) faet b)wer  c) fpselt  d) @&

g @S &Y A F FT A €7
a) foay b) SHHITE c)semsy  d) Fhsell

10. & & g haa F o S A &7
a) 02 b) NO2 ¢) CO2 d) sO2

11, WHET &S IR FITEEAT Rhder gl &7

a) 110-130 mg/dl b)130-150 mg/dl c)70-110 mg/dl  d) 60-80 mg/d|
12. WD 98 GIX PP e T 87

a) 126-140 mg/dl b) 200-220 mg/dl c)170-180 mg/dl  d) 190-210 mg/d!
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13. g=gfad (insulin) AT & & 37 A FadT 87

a) spleen (Fcalie)  b) kidney (fFa) c) pancreas (3THaTS) d) heart  (@S3)

14. Low(&A) YR ddd e 9T AJS @l 47 &7 dIfgu?
a) SFHAA b)AHS TS o) RER daee  d) g

15, ¢z wafesier( Tepid sponging) e dART & e giar 87
a) §@r b)dife™ar  ¢) W@ddy d) sraefes

16. @AY AIST A fhae aid gid 67
a) 30 b) 32 c) 34 d) 36

17. A AT & Fas Hws gld 87
a) 1 b) 2 c) 3 d) 4

18. @AY AT T foram #F @l @1 g Stsar @7
a) Oz b) CO2 c) SO2 d) N20

19. ARG AIST ARN H Fhetall IoFd glar 87
a) 1.5-251tr b)2.5-3.5 Itr ¢)5.0-5.5 Itr d) 8-9ltr

20. AT GEY &7 fpANeNfad (haemoglobin) fdet gleT 87
a) 12.5-16.5gm% b)13.5-18.5gm % c)11.5-120gm% d)18-20gm %

21. gAEg Afger # AW hder glar g7
a) 10-12gm% b)8-10gm% «c)6-8gm % d)12.5-16.5gm %

22. R 9 F IFAT HlT AT 30T @G gl 87

a) Kidney/ et b) liver/fdaX ) muscle /A9 d) bone/gss!
23, e U ¥ GO STET i § 3T H HEW g 87

a) ¥war  b) foER, ) §A d) gg81

24, I[CWT [GFTH T HIF @ 307 H HE HFR G 87

a) g b) far, ) fehsa, d) #rEdRh

25. 37 | ®leT T TH CEEEICH 872

a) Yeast(3&), b)exmE, c)AfAfATE (Penicillin), d) EHEE (ranitidine)
26. 387 A Hid HARAT Heddr 8?2 '

a) FTEE, b)AFEr , ¢) HeX , d) dAWs

\
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27, g ¥ Fia7 RIRET Seldr §7
a) @Fdr , b)A= , o ®AfUs . d) fafa™s

28. =47 @ i 39 o &7

a) MRS HEGT |, b) HEE, c) s, d) 9o

29, Yder o B SNd & et § gl 87

a) ¥4, b) 9§, <) FEY, d)Fedr

30. fRrewafadT (chikunguniya) 2 g2

a) HEE F Fea &, b) AT & e H, o) rgeBe B, d) ey arE N F
31 k7 @ AFERIT (Hepatitis ) TieT arev/@s & 8l &7

a) Hepatitis C b) Hepatitis B c) Hepatitis D d) Hepatitis A
32, HIV $ 78t 81 ¥l &7
2) IR T ey, b) FY A do oJefiee S @, d) TEAT T H G F I
33. e & FeA H G FaN Tge FEE W Firstaid)wmm

a)®E §T mﬁaﬂﬁmmwﬁma@, b)&e TR Fear AT ¢) FE TR TgT AT
arfRw, d) & T ST Kerosene el STelal TRT.

34.mam¢mmmmmm%mﬁv
ajoo bjooo ¢ X d)
35. @9 & FEa ¢ Torniquet Fgl AT ATgu?

a) @R & AT W/, b) FTE & AR F H, c)Fe F el & g&g H R 15-20 cm & g W,
d) tourniquet & seTAT ATRT

6. §T e F FEF FRER Seled FT BT 87
a) GdraTafess (antibiotic) , b) normal saline, c) anti snake venom, d) Anti pyretic T&Y gdRReF |
37. Dehydration & A{ HT FaQ Tged T AT TfRe?

a) Gdrarafes (antibiotic) , b) Anti pyretic (T8 wRRH) ) 7S & FAS 3iX ORS, d) Analgesic
(3retTersl )

38, ORS &I e T ¥ B GHT & gl 3UANT F ol dIeT?

a) 126, b)36ET c) 24 €¢ d) 486¢

Y
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’// 3. ECG # g Rt 3 Mew & &7
r

d

F3
E
%0

a)a b) 5 c 6 d) 8
40.ECG TR & fw 31 & Rhar &1 axiiar &7
a)ged, b)de, c)se, d) fnser
41.Eceﬁrga—ertﬁmwm%?

a) Electro Cardiogram b) Electro Encephalogram c) Electro Critical gram d) Electro Clinical gram

42. poisoning ¥ dore 3 9T WE A F AT FIT ST HA &7

a) Ryle’s tube TRIeH T , b) Foley's Catheter RIS $89ex |, o) IV line 3médr @$A | d) Rubber
Catheter T HUT

< 43, 9t ¥ T Ay A FE Ferdr
a) T ¥ , b) 9§ e, o) A, d) FER A
a4 de T T 3R (@ e 81 @ S E vaccination & €7
2) &8, b) AN, o) THUAIR, d) TEHTE
45. 50w ol @ i A AR g 87
a) FTeRT, b) &7, ) FARAT, d) TE.3E. o
46, geg qfEr FEEE & e 37 & geal # gar Aerg Sl §7
a)0-3@Ter , b)5-8¥Tel, c)0-5 Wiel, d)8-10 W
© 47 CPR & €AY ¢ e # fFde e ¢ F#I (chest compression) ST aifge?

a)60 b) 90 c)120 d)40

48 FIFEsT F9eT (Foley's Catheter) TR & &1g HYT &I Toa #T T & AT fhdar normal
FoATSA STelAT aTRT?

a)5 mil b)50ml c)30ml d) 10 ml
49, WHT AT F normal O2 saturation ThereT Fem =1fge?
a)70-75% b)80-85%, c)90-95%, d)95-100%

50, HRTFT AST UE fRete ¥ fhae a) G AT 87

a)20-24 ¥R b) 14-16 SR c)22-28. ¥R ,d)30 &R @/



51. contaminated (@Ferdlaes) IS & e B W1 & Fer F sreEm wiRe?
a) @, b)aer, ¢ dem  d) @
52. @AY gars A arEe RIS (ampule) e TT H AT F e WiR?
a) &ffem b) @, ¢) diem, d) ¥he
53. R T B T & deh F theredr TIfRU?
a)are, b)) W, ¢) e, d) e
54.( Diarrhoea JsraR@r & #er &1 @ Neman arfew?
a) A 7 e, b)eAH® Fr M, ) ORS, d) e =it
55. %3 & ST T FFHT HA EIAT ¢
a)arg B, b)TFT ¥, ¢) HSA @, d) 5T &
56. %W & O & ST & [T PleT A AHAT Ao 87
a) S6@H, b) T&d, c) H7, d) CSF H.waiH
57. AT FT ST FH & FH hcel FeA Tl 87
a)4 b) 6 c) 8 d) 10
58. 518 ¥ FiT € €@ diabetes # 39T gar &7
a) (Insulin) s=g e, b) (Penicillin) ¥R, «¢) (Amikacin)3ifR&IT8, d) (Ecospirin) $HITE9a
59. k7 & ga1$ §ER & Sl A 3G T &7
a) Paracetamol IREEATA, b) Metformin Acwia, c) Insulin =g A=, d) Betadine flerEA
60.02 saturation ¥R 9T T F AT e F@ T 39T BT &7

a) Sphygnomanometer FEgaAIARAIAICY. b) ECGHE, ¢ Thermometer Zr#HfHIET, d) Pulse Oximeter
e IEafAet

61. §@R A9 & T &1 39TNT BT &7

a) Thermometer ¥HfHeX , b) ECGHE, c) Pulse oximeter Ted mfFafAey, d) Sphygnomanometer
R
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62.9ER A & fav ywfdey Hg A &l wWd &7

a) STET & FUX, b) ofeled & 1, ¢) arat & &g #, d)glel & d" A

63. ¥IHR (CPR) Therel Aee deh aterm a1fRT?

a) 30 =T, b) 45 =, ) 15 @=e, d) 20 @A«e,

64. 30 W Y greuTeey Hypertension 7 81T &7

a) Aled & , b)eAdA® G @t &, c) RINe @, d) HEWA WA .

65. ¢eAH CHATSS (Tetenus Toxoid) ¥R & 87

a) Oral #& ¥, b) Intramuscular AFRAY #, ) Intravenousd=H A, d) intradermal =HT H.
66. 30 ¥ FleT A Za$ A (Asthma) F 39T BT &7

a) Salbutamol FegeHd, b) Digoxin SsFas, ¢) Penicillin 3fATAfAw, d) Aspirin JReRe
67,mm$nﬁambedwmﬁﬁmﬁmﬁﬁﬁrmaﬁw
AW A B, b)WaA |, ) WIR B, dTW & o

68. {F 3ATE B W AN A i ©Y Ao 3ur i S &7

a) Ryle’s tube TAIeH 4@ , b) Foleys MIfasT HAeT , ) Condom catheter HsTH FdeX d) IV line
IS ST

B8 A= HTSsh! 319 (micro drop)

a)60 b) 80 c)100 d)40

70. 1ml= ... 3# 319 (macro drop)

a)12 b) 14 c)16 d)18

71. g9 (sunlight) ¥ i & FerfAa awar 87

a)VitA b)VitB1  ¢)VitB2  d)Vit.D

72. ( Oxygenated blood ) 3Tes=es TaFd e 3 agar &7

a) Artery 36, b) Vein @ , c) Lymphatic channels fd#%fea dae, d) Urethera ZX2RT
73. Pneumonia (a@an &9 & 317 & yanfaa &tar &2

a) e, b) &6, c) oa, d) e



74. ECG Rarerd garg @it &7 ofis( Lead) @ (long) e =rfew?

a) Lead-1, b)Lead I, c)leadlll d)Lead Avl.

75.548 & e gag A AR B GETEer 61 S6ci?

a) YA Y& @, b) dFETG @Y W, ) TAET el FHid (Red meat) T A, d) TN gl Feslt Wt &
76. AN (Diabetes) F AT & fFd YR F HIS & GWeoT HEAT AIRT?

a) g0t westt, b) 372 &1 @he T, c) FATE, d) SGS (water melon)

77.( Body mass Index )STET AT Swoad &T BT 87

a) aotd_(kg)

aFaTS (Mtr)?

b) wFaTS (Mtr)

astet (Kg)

c) I (kg)
oFaTg (mtr)
d) @Farg (mtr)’
asi (kg)
78. AT AT # fardsl oy g1 87
a) 2 b)1 c 3 d) 4
79. 5@ ¥ AT & A g9 T F P ¥
a) Diabetes SrIfIEST, b) Heat stroke &€ &Y, c) Maleria #FARAT, d) Typhoid TRIHSS
80. RAITaNfRe STa & AT IFT & AFHAT S F JFGLAT A HoieAr A1MeT?

a) EDTA (3.21.8Y7), b) Floride (Fik188), c) Plain ( “a«T) d) Citrate (HTEeE )
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81. QeTer BT 2¥C (Renal Function Test) & fT Iad &7 3T HleT § daEaI (Vaccutainer) #
FoeT AR '

a) EDTA (2.21.81.1), b) Floride (FIRTgE), c) Plain ( “ei=) d) Citrate (H1$¢T )
82. 54 ¥ Wil AT ZaTS ANRAT A 3w gl 87

a) Chloroquin ( #el)f&as), b) Chlorhexidin (FeTgerdSta), ) Chlorpropamide (Fes#s) |
d) Chloremphenicol (FARAUTAHH) d

83. INR (TS.UA 3R) ST & AT & &7 76T Pl F g 7 HofeTr F1ew?

a) EDTA (3.21.811), b) Flouride (FeiRT33), c) Plain (To=) d) Citrate (H$ET )

84. Pleural Effusion (SR TFpST) &l @ a1 &1 SR €7

a) FwsT,  b) &, ¢) efle, d) fersett

85. Anti Rabies (VT {feg afdasT) & &d &7

a) Oral (& @  b) Intra muscular (AREIEY F), c) Veins (d7 F), d) Intra dermal (Ter &)
86. 3 | HleT T WIS Calcium ( Hfewa#) 1 3= T &7

a) Milk Product ( g 7&1¥) , b) Rice (I1@), c)Wheat (31g), d)Green vegetable (&8 Fssir )
87. lodine (3MA13A) A Falr & Fa @ hall g 87

a) Diabetes (HY#%) , b) Heat stroke ( &1 ¥I%), c) Hypetension (BTSUX E91),
d) Hypothyroidism ( garasUT B51H).

88.5a8 ¥ i @ NAD Lever (NaX) & yafida T &7

a) Hepatitis A (89¢TEEF A) , b) Trachoma (Z1AT) , ¢) Pyclonephritis ( SATAIWWAISAN) | d) Cataract
(Aifaar [§g)

89. ORS & T =gl gIaT &7

a) NA (@1E@), b) K (derf@F#), c) CL(F6Rgs),  d)Mn (#Hae)

90. Cataract (Feqehe) @i ¥ 3T Hr AR 82 “
a) @, b) &, c) 7F, d) HE

91. e et & 7 ¥ Raf@a & w0 a1 &7

a)B-1, b)A, c) D d)K, O



92. QAT AT # fhcell 5581 g1 &7

a) 106, b)206, c)306, d)406

93 ¥R & (ATeTE) T frder HET ST @Y 67

a) 80% b) 20% c)40% d) 66%

94.3a% @ HleT Antiseptic (WERIEH) &7

a) Betadine (@1c@#) , b) Lignocaine (F7a1d=1), c) Paracetamol (TRENCAT), d) Aspirin (TTREIR)
95, Epilepsy (BRaT) Fa & 3731 & ardr &2

a) #1,  b) el o) ey, d) ve,

96. Thyroxine (UTEXT@EsT) Hormone ( gr#fd &gl dear g7

a) Thyroid (T@s), b) fhselt, c) @R, d) Spleen (¥=ell=)

97.gRa oter & Fl7 & ARy gl 22

a) Typhoid (CEW1$3), b) Maleria (FraR@T) , c) Tetanus (&&4) | d) Epilepsy ( FATT )

98, ITWT T Fraww ¥ &l {1 NA & &7

a) Diabetes (WE#E) , b) Hypertension (g139v&¥<), c)Syphilis (RIS , d) Maleria (FeifRam),
99. Haemoglobin (RFlTelfaer) & Felt S AT Fed 67

a) Anaemia (FENAAT), b) Fever (§@R), c) Pneumonia (AT, d) Hepatitis (892<H),
100. Blood sugar (58 GIR) & g &I FAT Fgd 87

a) Hypoglycemia (@RIQSTTATAAT) | b) Hyperglycemia ( grsakvenf@faidn), c) Hypothermia (BT,
d) Hepatitis (§9€T5E 1)

101. FJsT # FHT T T FHr (WBC) feretar Bidr 87

a) 4500-11500, b)2000-4500, c¢) 12500-15000, d) 1000-3000
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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 32101153
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3210111626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is nephrectomy”?

Options :
Surgical removal of a nerve

Surgical repair of a nerve
Surgical removal of kidney

Surgical removal of necrotic tissues

Question Number : 1 Question Id : 3210111626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option QOrientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SpFersT FT &7

Options :

. T afyer Fr @l § gere
. frdr 3T Fr IO § SF FaT
k /?ﬁﬁﬂ:‘{ﬂ@m

 ERE saw (Rey) & w ¥ gTE

-
Question Number : 2 Question Id : 3210111627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Preoperative or preprocedural prevention of infection is called:
Options :
Primary prevention



- | Muw.q
» Prophylaxis Bwerhye \ &+
Primordial prevention

Protective precautions

Question Number : 2 Question Id : 3210111627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oo FIfheET ¥ g I7 IHAT ¥ TES TFHUT H AFUTH F Tg FGF AT &

Options :

| w SRS JFUTH
Jferys (Srfrafaas)

A UHAH

- .

gtmmuﬁm“

g4 &

Question Number : 3 Question Id : 3210111628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following procedures removes the entire breast and axillary contents but preserves the pectoral muscles?

Options :

: Lumpectomy

, Modified radical mastectomy
- « Radical mastectomy

Segmental mastectomy

)
Question Number : 3 Question Id : 3210111628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁﬁﬁ%ﬁﬁ@aﬂﬂﬁrmﬁ@mﬁm(mﬂmmﬁwm%mmﬁ
(FFET FHST) &7 &= FI @A 87 A

Options :
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Question Number : 4 Question Id : 3210111629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
McBurney's incision is used for:

Options :

Appendectomy

s

l

Cholecystectomy
Herniorrhaphy

Nephrectomy

Question Number : 4 Question Id : 3210111629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FFat F DT &1 39997 5HF e GFar smar g

Options :

1
2

Rrearerg-3=0ea (FITeaTeHAT)

« FARERTAT 1

1
s

Question Number : 5 Question Id : 3210111630 Question Type : MCQ Option bhufﬂmg Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mavo's operation 1s done for:

Options :
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» Umbilical hernia foruilp \g\
. Epigastric hernia

» Femoral hernia

Inguinal hernia

-

Question Number : 5 Question Id : 3210111630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical .

Correct Marks : 1 Wrong Marks : 0.25
At = 3T TEe fov R S g

Options :

 afer (3R g
sosrst (oftetfees) gfear
. ST (AR g

F&TOT (3[3A) gl

L

Question Number : 6 Question 1d : 3210111631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Oricntation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A small artery forceps used to hold small bleeders is called:

OGptions :
Non-toothed dissecting forceps

I o

, Mosquito forceps

W

Allis tissue forceps

Babcock's tissue forceps -

Question Number : 6 Question Id : 3210111631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 7 Question Id : 3210111632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the correct order of the intestinal layer. from inside to outside?

Options :

] Serosa. mucosa. musculature

Mucosa. submucosa, serosa
. w Serosa. musculature. mucosa

Mucosa. serosa. musculature

Question Number : 7 Question Id : 3210111632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 8 Question Id : 3210111633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following instruments is used to dilate the cervix during various procedures?



Opﬂtions !
Vulsellum forceps

Ko

=
ES
%0

Sims vaginal speculum
Fergusson speculum

, » Hagar’s dilator

e

Question Number : 8 Question Id : 3210111633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 9 Question Id : 3210111634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The instrument most commonly used to hold soft tissues, organs and bowel is:

Options :
Kelly

% Kocher
» Babcock _ i

4 & Allis

Question Number : 9 Question Id : 3210111634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 10 Question Id : 3210111635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The removal of entire tumor/mass is known as:

Options :
Excisional biopsy

Incisional biopsy
Needle biopsy

Staging biopsy

Question Number : 10 Question Id : 3210111635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 11 Question Id : 3210111636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical §

Correct Marks : 1 Wrong Marks : 0.25
The perianal varicose veins:

Options :



f'r,-. Anorectal tumors iy e

1 s ks \U\C\
« Fistulas

» Hemorroids

Polyps

Question Number : 11 Question Id : 3210111636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical .

Correct Marks : 1 Wrong Marks : 0.25

Options :
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Question Number : 12 Question Id : 3210111637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all
candidates.
Options :
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Question Number : 12 Question Id : 3210111637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Anal and perianal procedures should be performed in which of the following positions?

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all
candidates.
Options :

y Trendelenburg

» Lateral
= Dorsal recumbent

4 Lithotomy

Question Number : 13 Question Id : 3210111638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correet Marks : 1 Wrong Marks : 0.25 -
The direct visualisation of the common bile duct is accomplished with the help of a:

Options :

] Cholangiocath

Cho angiogram
, Choledochoscope

4 ® Trocar

Question Number : 13 Question Id : 3210111638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 14 Question Id : 321 0111639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical 3

Correct Marks : 1 Wrong Marks : 0.25
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In a thyroidectomy. a loop retractor retracts th T AR

Options :
.« Platysma muscle

% Cervical fascia
Thyroid veins

4 « Sternocleidomastoid muscle

Question Number : 14 Question Id : 3210111639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 15 Question Id : 3210111640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Whipple procedure is performed in the case of:

Options :
; % Breast cancer

Obesity

» Cancer of pancreas /

% Liver disorders

Question Number : 15 Question Id : 3210111640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 16 Question Id - 3210111641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The instrument used to retract the sin edges, blood vessels, nerves and abdominal wall is:

Options :
Pronged retractor =

Czerny's retractor
Lange beck’s retractor

Doyen’s retractor

Question Number : 16 Question Id : 3210111641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 17 Question Id : 3210111642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The eyeless suturing needles are called:

Options :



-

. a
Round body needles Bos i jp \\J\%
Taper cut needles

Curved cutting needles

4 « Atraumatic needles

Question Number : 17 Question Id : 3210111642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ; Vertical :

Correct Marks : I Wrong Marks : 0.25
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Question Number : 18 Question Id : 3210111643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The type of drain providing drainage of colorectal anastomosis 1s:

G ntions :

1 * T‘tUbe dl‘ain

» Silastics tube drain

z % Vaccum drain 4

Under water seal drainage

' -

Question Number : 18 Question Id : 3210111643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FIIFTT TATRIATAT &7 A 9& FI arelr Aol & Y1 IF &

Options :



L SFgHE

HET arel e 3AS

Question Number : 19 Question Id : 3210111644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An instrument placed against a patient's chest to hear both lung and heart sounds is called:

Options :
1 Otoscope §
Stethoscope

Sphygmomanometer

Telescope

Question Number : 19 Question Id : 3210111644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 20 Question Id - 3210111645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The condition in which protrusion of a part of stomach through the thoracic cavity is observed is called:

Options :



| = Oesophagitis

g3
g2
G

>  Hiatal hernia

Esophageal varices

4 » Achalasia

Question Number : 20 Question Id : 3210111645 Question Type : MCQ Option Shuffling : Yes Dlsplay Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 21 Question Id : 3210111646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The most important of the greenhouse gases is:

Cptions :
, % Methane

~ & Nitrous oxide
» Carbon dioxide

4 % Carbon monoxide

Question Number : 21 Question Id : 3210111646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 22 Question Id : 3210111647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When is National Earth Day celebrated?

Options :
17 May

227 April

» 15™ June

% 21T June

Question Number : 22 Question Id : 3210111647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 23 Question Id - 3210111648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sick Building Syndrome refers to:

Options :



% Second hand smoke &y\ra \M f

Photochemical smog

Outdoor air pollution

= R

4  Indoor air quality

Question Number : 23 Question Id : 3210111648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical x

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 24 Question 1d : 3210111649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The primary cause of depletion of ozone is the presence of in the atmosphere.

Options :

; % carbon monoxide

nitrogen oxide

*

hydrocarbons

4 « chlorofluorocarbons

Question Number : 24 Question Id : 3210111649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Oricntation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 25 Question Id : 3210111650 Question Type : MCQ Option Shuffling : Yes Display Question Number: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which ozone layer provides great benefit to the life on Earth?

Options :
Photosphere

Stratosphere
Tropopause

Troposphere

Question Number : 25 Question Id : 3210111650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 26 Question Id : 3210111651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When the Environment Protection Act came into force in India?

Options :



[ 1985 M'IN'Q VA
7 1986
% 1987

4 % 1988

Question Number : 26 Question Id : 3210111651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

, = 1985

=, 1986
« 1987

q % 1988

Question Number : 27 Question Id : 3210111652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ‘Pollutant Standard Index” is related to .
Options :

1 water pollution

% soil pollution

noise pollution

-

, . airpollution
-

Question Number : 27 Question Id : 3210111652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 28 Question Id : 321011 1653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the Bhopal Gas Tragedy in the year 1984, which gas was leaked?

Options :
» Ammonia

Methyl isocyanate

- % Chlorine

4 &% Oleum

Question Number : 28 Question Id : 3210111653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 29 Question Id : 321011 1654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A habitat is home to many organisms and destroying a habitat affects

Options :

: biodiversity



climate

B3
E 2
%0
z

i

5 W resources

4 % weather

Question Number : 29 Question Id : 3210111654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 30 Question Id : 3210111655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the color-coding of the bags used in hospitals to dispose of human anatomical wastes such as body parts?

Options :
1 « Yellow

» % Black

% Red

W

4 % Blue

Question Number : 30 Question Id : 3210111655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 31 Question Id : 3210111656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 31 Question Id : 3210111656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correet Marks : | Wrong Marks : 0.25

In hospitals the waste sharps are disposed of in containers.
Options :

= Yyellow
% black

s red

4 « blue

Question Number : 32 Question Id : 3210111657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In hospitals. the discarded medicines and cytotoxic drugs are disposed of in containers.

Options : -
vellow

» black

1

s red
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Question Number : 32 Question Id : 3210111657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 33 Question Id ;: 3210111658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In hospital. the infectious non-sharp waste i.e. soiled bandage, dressings. soiled cotton are disposed of in _____
containers.

Options :

| Yellow

s red

{_\_I‘]

% blue

.
-

Question Number : 33 Question Id : 3210111658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 34 Question Id : 3210111659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a method of collecting materials that can be broken down and reprocessed to manufacture
new items?

Options :
Composting

Industrial ecology
Deep-well injection

Recycling

Question Number : 34 Question Id : 3210111659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical .

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 35 Question Id : 32101 11660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Safe Drinking Water Act enacted? p

Options :
, & 1971

1972

% 1973
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Question Number : 35 Question Id : 3210111660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

. = 1971
> % 1972 _
« 1973

4 v 1974

Question Number : 36 Question Id : 3210111661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ecosystem diversity:
Options :
involves sustaining the energy flow. food web and recycling of nutrients.

1
L

» includes the things that the environment makes and people take and use.

is something the environment does for free that benefits people.

e

4 w 1is apredicable series of changes over time in plant and animal communities.

Question Number : 36 Question Id : 3210111661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 37 Question Id : 3210111662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“First. do no harm" is based on which ethical principle of health care?

Options :

1 Accountability

- % Beneficence ;
Fidelity

4  Non-malfeasance

Question Number : 37 Question Id : 3210111662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 38 Question Id : 32101 11663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT considered a portal of entry for bacteria?

Options :
Eyes

~

» Intact skin

& Nose
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Question Number : 38 Question Id : 3210111663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks : 0.25
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Question Number : 39 Question Id : 3210111664 Question Type : MCQ Option Shufﬂmg Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Most health-care-associated infections are transmitted to patients:

Options :
. « from the hands of the health care workers.

from dirty washrooms.
- w from hospital food.

by talking to each other.

,l i

Question Number : 39 Question Id : 3210111664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 40 Question Id : 3210111665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following risk factors is the most likely to be correctable?

Options :
Genetic predisposition

 Lifestyle choices :
High risk behaviours

4 % An external locus of control

Question Number : 40 Question Id : 3210111665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 41 Question Id : 3210111666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which basic activity of daily living assistive device can be useful for the client who is affected with poor fine motor
coordination?

-

Options :
1 An aphasia aid

-« A button hook

Honey thickened liquids



4 % A word board {\hﬂiu:hg _ \@1

Question Number : 41 Question Id : 3210111666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 42 Question Id : 3210111667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following patients is at greatest risk for extravasation?

Options :

A patient with heart failure who is receiving Ringer’s lactate

e

» The client with cancer who is receiving bendamustine

The client who is receiving potassium supplementation intravenously

v

The client who is receiving total parenteral nutrition

Question Number : 42 Question Id : 3210111667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 43 Question Id : 3210111668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the arterial blood gas that is NOT within normal parameters and it is also a significant change for the client.
Options :
» PaO2 : 65 mm Hg .

PaCO2 : 40 mm Hg
Arterial blood pH : 7.39

4 ® Sa02 :96%

Question Number : 43 Question Id : 3210111668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correet Marks : 1 Wrong Marks : 0.25
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Options :

» PaO2 : 65 mm Hg

PaCO2 : 40 mm Hg
. UHAT &g 9o 7.39

4 % S802 : 96%

Question Number : 44 Question Id : 3210111669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which complication of immobility would be of most concern in case of a bedridden patient?

o

Options :

: Dehvdration

> » Incontinence
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Hypertension

Question Number : 44 Question Id : 3210111669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 45 Question Id : 3210111670 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is an intrinsic risk factor that places the client at risk for pressure ulcers?

Options :
1 ® Pressure

Shearing
- » Impaired tissue perfusion

4 w Friction

Question Number : 45 Question Id : 3210111670 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 46 Question Id : 3210111671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is a sign of thrombocytopenia?

Options :
 The appearance of petechiae

Aplastic anemia

The appearance of thrombophlebitis

W

Elevated platelets

Question Number : 46 Question Id : 3210111671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 47 Question Id : 3210111672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (.25 -
What type of immunity occurs when a person is given an injection of immune serum?

Options :

] Adaptive immunity

Passive artificial immunity
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Active artificial immunity

Question Number : 47 Question Id : 3210111672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 48 Question Id : 3210111673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will be the pulse pressure for a blood pressure reading of 130/80 mm Hg?

Options :

, % =210mmHg

130 mm Hg
5 » S0 mm Hg

» 30 mm Hg

Fa
o

Question Number : 48 Question Id : 3210111673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25 -
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Options :
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Question Number : 49 Question Id : 3210111674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

* Correct Marks : 1 Wrong Marks : 0.25
What should be rate of compressions per minute while providing chest compressions in CPR?

Options :

1 80 per minute :

100 per minute
120 per minute

140 per minute

Question Number : 49 Question Id : 3210111674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 50 Question Id : 3210111675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
At what angle an intramuscular injection should be given? P

Options :
15°
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Question Number : 50 Question Id : 3210111675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 51 Question Id : 3210111676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which method should be used to open the airway in case of suspected C spine injury?

Options :
1 % Abdominal thrust

- # Head tilt and chin lift
= « Jaw thrust

% Back thrust

Question Number : 51 Question Id : 3210111676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 52 Question Id : 3210111677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
While instructing the patient regarding 2.4 urine collection. which of the following should NOT be done?

Options :
. % The first voided urine should be discarded.

~ The last voided urine should be discarded.

Add some preservatives to prevent decomposition.

. » Refrigeration of the specimen during collection may be required.

()

Question Number : 52 Question Id : 3210111677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 53 Question Id : 3210111678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An intravenous solution of 0.45% sodium chloride is ____

Options :
, % isotonic

% 1someric

hypotonic
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Question Number : 53 Question Id : 3210111678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 54 Question Id : 3210111679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 54 Question Id : 3210111679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The quadriceps exercises are the example of:

Options :
1 % isotonic exercises.

/ 1sometric exercises.

5 » isokinetic exercises.



4 % ROM exercises.

Question Number : 55 Question Id : 3210111680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A F FAHETOT ¥ 2h TRRET s & v, FEY & HUR $T SHER AN a9 Agca ol &

Options :

| gedT @ A

1 o

orsT G T W e :

. 38T F FTEIRGT F FHEAT

. U7 e |

Question Number : 55 Question Id : 3210111680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
To increase stability during the transfer of a patient. it is important to increase the base of support by:
Options :

; bending the knees.

leaning slightly backward.
tensing the abdominal muscles.

.  Spacing the feet apart.

Question Number : 56 Question Id : 3210111681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following cellular organelles serve as the site of protein synthesis?

Options :
Golgi bodies

Endoplasmic reticulum

= % Mitochondria
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Question Number : 56 Question Id : 3210111681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 57 Question Id : 3210111682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following amino acids does NOT have an acidic side chain at neutral pH?

Options :
: Aspartic acid

Tyrosine

% Glutamic acid

L)

4 « Threonine

Question Number : 57 Question Id : 3210111682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 58 Question Id : 3210111683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The force maintaining primary structure of a protein is called:

Options :
peptide bonds.

hydrophobic forces. .
hydrogen bonds.

electrostatic (ionic) bonds.

Question Number : 58 Question Id : 3210111683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical :

Correct Marks : 1 Wrong Marks : 0.25
9rére £ SrUfHE TIEAT S §ATC W@ aTer T T FaT AT ¢

Options :
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Question Number : 59 Question Id : 3210111684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following lipids is NOT present in vegetable oil?

Options : o
» Cholesterol

% Linoleic acid

% Oleic acid

i)
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Question Number : 59 Question Id : 3210111684 Question Type : MCQ Option Shuffling : Yes Display Question Number ! Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1| Wrong Marks : 0.25
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Question Number : 60 Question Id : 3210111685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
During starvation. which of the following substances does NOT increase in blood or tissue?

Options :
; # Ketone bodies

Epinephrine
» Glycogen

Glucagon

.lw

Question Number : 60 Question Id : 3210111685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct. Marks : 1 Wrong Marks : 0.25
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Question Number : 61 Question Id : 3210111686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following enzymes contains copper?

Options :

 Cytochrome oxidase

I

Cytochrome BS .
. w Coenzyme Q

Cytochrome P450

Question Number : 61 Question Id : 3210111686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical .

Correct Marks : 1 Wrong Marks : 0.25
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Options :

|, TESHHA ATFHISS
. FrsaA B5

. TrEeHIA 91 450

Question Number : 62 Question Id : 3210111687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 62 Question Id : 3210111687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cholecalciferol is synthesised in
Options :

1 ® liver

v skin .

kidney

L

4 % intestinal mucosa

Question Number : 63 Question Id ;: 3210111688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Aldosterone regulates:
Options :

: blood glucose

~ % serum calcium

- 7 urine concentration

sodium absorption

Question Number : 63 Question Id : 3210111688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number ; 64 Question Id : 3210111689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Scurvy happens due to deficiency of

Options :
i % vitaminD

- o« vitamin C L

3z % zinc

4 w lodine

Question Number : 64 Question Id ; 3210111689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 65 Question Id : 3210111690 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sugar(s) formed as a result of sucrose digestion is/are:

Options :
» fructose and glucose.
maltose and glucose.

two moles of glucose.

glucose and galactose.
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Question Number : 65 Question Id : 3210111690 Question Type: M Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ; Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 66 Question Id : 3210111691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correet Marks : 1 Wrong Marks : 0.25
Which of the following amino acids have an indoled ring in theu structure”?

Options :
Arginine

1 ”»
. Tryptophan
- % Histidine

.« Proline

Question Number : 66 Question Id : 3210111691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 67 Question Id : 3210111692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
During denaturation, proteins will not lose their structure with regard to :

Options :
» primary structure

secondary structure
tertiary structure :

quaternary structure

|

Question Number : 67 Question Id : 3210111692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 68 Question Id : 3210111693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (.25
the major fat present in adipose tissues.

Options :
Phospholipids

I
5 & Cholesterol

Sphingolipids

» Triacylglycerol



Question Number : 68 Question Id : 3210111693 Question TygdW&"MIOL} Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertic by |2

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 69 Question Id : 3210111694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Sifigle Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Lactam-lactim interconversion is an example of:
Options :
Epimerisation

| -
4

% Anomerisation

P

» Tautomerism

Optical isomerism

Question Number : 69 Question Id : 3210111694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 70 Question Id : 3210111695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the site of giving spinal anaesthesia.

Options :
, » L1-12
L2-L13
L3-L4
, & L5-L6 '

Question Number : 70 Question Id : 3210111695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ; 1 Wrong Marks : 0.25
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Options :
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Question Number : 71 Question Id : 3210111696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
With respect to anaesthesia. full form of PCA is:
Options :

] Personal comfort Analgesia.

Patient controlled Analgesia.
Personal control Analgesia. r

Patient comfort Analgesia.

Question Number : 71 Question Id : 3210111696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 72 Question Id : 3210111697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ilow many stages of anaesthesia are there?

Options :
1 ® Two

% Three
s Four

4 % Five

Question Number : 72 Question Id : 3210111697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 73 Question Id : 3210111698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What mixture of gases is used in general anaesthesia?



Options :
» Oxand N>O

1
0> and CO»
CO» and N»O

4 % 02.C0O and N>O

Question Number : 73 Question Id : 3210111698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

0, 3’ N;O =
0, 3 COy
CO, 3R N2O

0,, CO, 3R NO;

Question Number : 74 Question Id : 3210111699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One of the methods to measure changes in the levels of consciousness during anaesthesia is known 27

Options :
 Auditory Evoked Potential.

% Visual Evoked Potential.
% Tactile Evoked Potential.

Speech Evoked Potential.

Question Number : 74 Question Id : 3210111699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical :

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 75 Question Id : 3210111700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the function of a nebuliser?

Options :
To facilitate accurate supply of the gas

To maintain the body temperature

To maintain the levels of individual gases

o

» To supply moisture in the form of droplets

Question Number : 75 Question Id : 3210111700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 76 Question Id : 3210111701 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is known as laughing gas?

Options :



CO2 ~ .
» N2O
3 % NO»

B-O

Question Number : 76 Question Id : 3210111701 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical 3

Correct Marks : 1 Wrong Marks : 0.25
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Options :

. w OO
_ » N2O
.« NO;
. w BO

Question Number : 77 Question Id : 3210111702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Reduction of oxygen in blood is called

Options :
% anoxia

apnoea

- / anoxemia

arrhythmia N/

Question Number : 77 Question Id : 3210111702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 78 Question Id : 3210111703 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
To what pressure an endotracheal tube must be inflated to produce an adequate seal between the cuff and the wall of the

trachea?
Options :
16 mm Hg

1 &

-~ . 18 mm Hg

20 mm Hg

L¥4)

22 mm Hg

Question Number : 78 Question Id : 3210111703 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 79 Question Id : 3210111704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Full form of AEP is:
Options :
Ambulatory Evoked Potential.

e



, Auditory Evoked Potential.
Auxiliary Evoked Potential.

4 # Audiovisual Evoked Potential.

Question Number : 79 Question Id : 3210111704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 80 Question Id : 3210111705 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the colour of nitrous oxide gas cylinder?

Options :
% Black
% White

» Blue

(51

Gray

=4

Question Number : 80 Question Id : 3210111705 Question Type : MCQ Option Shuffling : Yes Display Question Number : Ves
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 81 Question Id : 3210111706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an inhalation anaesthetic agent? :

Options :

Ethylene

1

» Halothane

—

Fentanyl

= W

4 " Cyclopropane

Question Number : 81 Question Id ;: 3210111706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Oricentation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 82 Question Id : 3210111707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT the narcotic drug”?

Options :

.  Propofol \/



Morphine sulphate

= # Pethidine

4 % Demerol

Question Number : 82 Question Id : 3210111707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 83 Question Id : 3210111708 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT the property of oxygen?

Options :

. = Itiscolourless.

It has some pungent smell.
It is highly explosive.

It is highly volatile.

Question Number : 83 Question Id : 3210111708 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical '

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 84 Question Id : 3210111709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What mixture of gases is used in cryofreezing anaesthesia?

Options :
O» and N»O

1 e
i

O, and CO)

e

» COy and NLO

NO» and CO»

Question Number : 84 Question Id : 3210111709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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e

» COy 3T N»,O

NO, 3R CO»

Question Number : 85 Question Id : 3210111710 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What 1s capnometry?

Options :

1 Measurement of end tidal O



Measurement of end tidal CO»
Measurement of end tidal N>O

Measurement of end tidal NO;

Question Number : 85 Question Id : 3210111710 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 86 Question Id : 3210111711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT true regarding pulse oximeter?

Options :
It is used to measure the saturation of all the gases in the blood.

It is used to measure O» saturation in blood.
Sensor probe can be clipped on the finger. toe or earlobe.
[t is a very sensitive monitor.

o

Question Number : 86 Question Id : 3210111711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 87 Question Id : 3210111712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25 _
Nerve block is a type of:

Options :
general anaesthesia.

% local anaesthesia.

regional anaesthesia.

topical anaesthesia.

Question Number : 87 Question Id : 3210111712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 88 Question Id : 3210111713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ; 1 Wrong Marks : 0.25
Smallest iteph of data is called

Options :

1 % character M



